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Question Paper is in Hindi and English language. Candidate can
choose to answer in any one of the language (i.e., either Hindi or
English)
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There are TWO PARTS in this Module/Paper. PART ONE contains
FOUR questions and PART TWO contains FIVE questions.
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PART ONE is Objective type and carries 40 Marks. PART TWO is
subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER SHEET only,
supplied with the question paper, as per the instructions contained
therein. PART ONE is NOT to be answered in the answer book for
PART TWO.
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Maximum time allotted for PART ONE is ONE HOUR. Answer book
for PART TWO will be supplied at the table when the answer sheet
for PART ONE is returned. However, candidates who complete
PART ONE earlier than one hour, can collect the answer book for
PART TWO immediately after handing over the answer sheet for
PART ONE.
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Candidate cannot leave the examination hall/room without
signing on the attendance sheet or handing over his Answer
sheet to the invigilator. Failing in doing so, will amount to
disqualification of Candidate in this Module/Paper.
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After receiving the instruction to open the booklet and before
answering the questions, the candidate should ensure that the
Question booklet is complete in all respect.
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Note: In case of any discrepancy found in Hindi language, English version will be treated as final.
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PART ONE / Hkkx ,d

(Answer all the questions) / YalHkh iz’uksa

ds mUkj nsa's

1. izR;sd iz’u ds mUkjksa ds dbZ
fodYi uhps fn, x, gSaA ,d Icls
mi;qDr fodYi pqusa vkSj mls
fuEufyf[kr funsZ’kksa ds vuqlkj
iz’u i= ds IkFk miyC/k djk, x,
AAvks,evkj*™ mUKj i=d esa ntZ
djsaA
Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the “OMR”
answer sheet supplied with the question
paper, following instructions therein. (1x10)

1.1 ATSTEE g1 % forr Sug<F HTML Tag #:

A) <head>

B) <h6>

C) <heading>

D) <h1>
Correct HTML Tag for largest heading:

A) <head>

B) <h6>

C) <heading>

D) <h1>

12 www & died 02 sraria 82

A) AT qa7

B) FATEE qAT

C) 3-tier

D) IUUH | | FIE Al
www is based on which model?

A) local-server

B) client-server

C) 3-tier

D) None of the above

1.3 ag TUITelr o1 FoReT ars ot o T | 8 J7e T
ST ATl ATH § Faerdy &

A) Fepe fRaf=mr

B) STuATH

C) ST AT JOTTeAT

D) IYLE | H FE Aol
The system that translates an IP address into
an easier to remember name is the

A) Packet switching

B) DNS

C) Domain numbering system

D) None of the above

1|Page

ROUGH WORK SPACE:

14
A)
B)
C)
D)

1.5

A)
B)
C)
D)

A)

abc@dsdu.com 28 79 § dsdu 2:

dsdu ATH F T T FEE | giee #Fe
TRt FHfde SR # give #rges

et FAIET FER | FATee FEe

et s =0 § Fr8e FFgeT

In an email address abc@dsdu.com, dsdu is
the

host computer in a business with the name
dsdu

host computer in a commercial domain
client computer in a commercial business
client computer in a commercial domain

TeTAE F T2 AGFH ITHLO AT GAAT HITOT F2A o
LI T gl JATAT 8,

ZeTAe FAlaetael

ars ff uzw

BECAEN TR

A TeTieaT

The way in which information is transmitted to
multiple internet connected devices is called
Internet connectivity

IP address

multicasting

multitasking

FeTTh FAAL T it ag=rT & forg frefrefy e
TSI T START FEAT g2

NCP

ISDN

LCP

HDLC

What protocol does PPP use to identify the
Network layer protocol?

NCP

ISDN

LCP

HDLC

S o f Jeaw A 12-0E e 7 A
FIA E A1 TR At S qA 21 SATd 872
1

2

5

12

How many broadcast domains are created
when you segment a network with a
12-port switch?

1

2

5

12

FrEdt ugH & o a0 # T & srfeewier gree ugw

ITAH B2
A
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B) B

C) C

D) U H H IS AT
Which class of IP address has the most host
addresses available by default?

A) A

B) B

C) C

D) None of the above

1.9  SHIATSE FAL TIEA % (o ITLH html F4T1 82

A) <background color="yellow”>

B) <body color="yellow”’>

C) <body bgcolor="yellow’>

D) <body bg="yellow”>
What is the correct html for adding a
background color?

A) <background color="yellow”>

B) <body color="yellow”>

C) <body bgcolor="yellow”’>

D) <body bg="yellow’>

1.10 ¥ Physical addresses & ST

A) FigE-H-q15

B)  ETaET

C) IUF F ITHRAT

D) T | R
Physical addresses will change from

A) Point-to-point

B) hop to hop

C) sender to receiver

D) frame to frame

2- uhps fn, x, izR;sd fooj.k ;k rks
IR; ;k VIR; gSA ,d Icls mi;gDr
fodYi pqusa vkSj mls
fuEufyf[kr funsZ’kksa ds vuqlkj
iz’u i= ds IkFk miyC/k djk, x,
AAvks,evkj** mUkj i=d esa ntZ
djsaA (1x10)

2.1 RSA ©# public key cryptographic algorithm 2.
Tf% 1S qreFe Fv @Y 4T € A7 A7 qrew w Ay
A FATE AT ST THAT 2.

22  owa ‘fRawes R FEd dEEE qedw & o d
THE AT HIETH &

23  UfE T@IE F Afd & g9 THIOE w6 o
ot fsft Y 1 ST A 2.

24  UTEE-Hl ATEF F e w1 A F gd § o TR
T FT JHTIOFI 3 SUTREHRAT F &Fwg a9
ST & AT

25  YCUF TS SIS I &I FIITTead FLdT g.

2.6  TeEIAE ®T AIAE TerHi Ethernet &.

27  TUeR ¥ feR Jeas #, $15 A Fee T2 1F
aaT fY g1 T 2.
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2.8
29

2.10

2.1

22

23

24

2.5

2.6

2.7

2.8
29

U g &l AT — 37T LANSs T ST 2.
Tishe-FEaf=mr i qa=T § Te- Fat=w 1 78 19
g T 7g oy ot &7 o ®

et & 3 fordr srfers o fora Sfmar 2.
HTML & #it faroaeg &1 afvariua 3 #1
TIETHI 2.

Each statement below is either TRUE or
FALSE. Choose the most appropriate one
and enter your choice in the “OMR” answer
sheet supplied with the question paper,
following instructions therein. (1x10)

RSA is a public key cryptographic algorithm. In
case one loses the private key, it is possible to
reconstruct it from the public key.

Today Twisted Pair cable is the media of
choice for backbone networks.

Alice uses her private key to authenticate
herself to Bob.

Client-side scripts can perform many functions
such as data validation and provide interactive
feedback to the user.

Every host implements the transport layer.

The standard protocol of the Internet is
Ethernet.

In a peer-to-peer network, any client computer
can also be a server.

A hub connects two different LANs.

The advantage of packet-switching over circuit-
switching is more pronounced for bursty traffic
than for smooth traffic.

HTML is a protocol to describe web content.
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dkWye X esa fn, x, ‘kCnksa vkSj okD;ksa dk feyku dkWye Y esa fn,
x, fudVre lacaf/kr vFkZ @ ‘kCnksa @ okD;ksa Is djsaA muesa fn, x,
vugns’kksa dk ikyu djrs gq, vius fodYi iz’u i= ds |IkFk fn, x,
AAvks,evkj** mUKj i=d esa ntZ djsaA

Ya1x10"%
X Y
3-1 | s ¥ wrea™ | FRE Fe A | s S
3-2 | TeF FI A TAY A % JATE A B. | Ry
3-3 | fefSreet Tew i g4 #T aTgY TEaT &, C. | dtardt (POP)
3-4 | =af<F T =T~k TEIT Fao UF 9T | D. | tfiumg (ATM)
3-5 | Iror 3 R I YATE SIAET AT ET FEAT § AT 22T TgA i AT Tt E. |Z=twd
g
3-6 | IYANTHAT I S-HA Fl UF of q9T § T ITRLI H & TFAT ¢ F. FrEuaSUA(ISDN)
3-7 | Fee w= U G. | smEuHTdT (IMAP)
3-8 |¥ew Raa & I gu AT ATE H. | vguesmedt (SLIP)
3-9 |3= fRafr I FERICESRES
3-10 |t we & U F TUINIq Afdhed & FUT atzd, AT, ST < FATA T J. BT
=freer w37
K. | frfidt % PPP %
L. LTARS
M. | g9
4- uhps fn, x, izR;sd okD; esa uhps nh xbZ Iwph Is ,d ‘kCn ;k okD;
dks [kkyh LFkku esa yxk,aA Icls mi;gDr fodYi pqusa vkSj mls
fuEufyf[kr vugns’kksa ds vugqlkj iz’u i= ds IkFk fn, x, **vks,evkj**
mUKkj i=d esa viuk fodYi ntZ djsaA
Ya1x10%2
A |9 B. | g g C. | am=t
D. | f=idt %POPY. E. | & F. | srqefroar
G. | smEumudl (IMAP) H. | afesre L. |
J. | Har K. | tasrzmss Y MIME Y2 L. |z
M. | Ze7 ol oaw
4.1 EERED ITFHI &,
4.2 U TITAC HIAF & S [oh TUHTSTE, A¥-TFe HAUF AT o TATAT =T SFe T FZTAAT o T - T FiHS
TSI AT &.
4.3 ATEATS A=A T AT S F £ BT STTRT TATAAT T IAT AT % Ford 7 el T 2.
4.4 BIFe I¥ 9 T ST UTCeAha SITH &1 HaeT 9517 & o0 U9 § [aed 9 a1 1 A1 2.
45 Zrarersit §, 7w Fret Sead § U SUHTr €, Tous® STRr § Ao & ford U -1 91 &,
46  Tar R eET T T z.
47 IS HTRe, ST AT fR9Tet # 2T 9T FdT 8, A ST 07T g1, g
4.8 FAA S-HA Fl AT FHFAET T TTSAANES AT &, I ATHTAD: (FATHT gHAT q51)
- i1 RTe 79 7 Rl #ar &.
49  fHTe Froged aF = & o T T ST /3y Terhia g
4.10 g AT F2ar € 3 LT Faet 3 T &1 ST AT HETAa T ST FeheT 8 ST 38 ford arfara g
3. Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s) in
column Y. Enter your selection in the “OMR” answer sheet supplied with the question paper,
following instructions therein. (1x10)
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X Y
3.1 |Doing business electronically A. IP Protocol
3.2 |End-to-end flow control B. Simplex
3.3 |Keeps Digital Pests and hackers Out C. POP
3.4 |One to one communication in one direction only D. ATM
3.5 |Provides Best effort delivery service for transmission but does not E. E-commerce
guaranteed delivery of data
3.6 |User can synchronize their email among multiple devices F. ISDN
3.7 |Character Stuffing G. IMAP
3.8 |All nodes connected to a central switch H. SLIP
3.9 |Cell Switching l. Transport layer
3.10 |Digital transmission of voice, video, data, and services over the J. Firewall
traditional circuits of the PSTN
. PPP
L. Star
M. Mesh
4. Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list below.
Choose the most appropriate option, enter your choice in the “OMR” answer sheet supplied with
the question paper, following instructions therein. (1x10)
A. Port B. Half duplex C. Integrity
D. POP E. Tree F. Confidentiality
G. IMAP H. Broadcast . Frame
J. Mesh K. MIME L. Telnet
M. Data Link Layer
4.1 Hubisa__ device.
4.2 is an Internet standard that extends the format of email to support Text other than ASCII, Non-
text attachments etc
4.3 The layer of OSI model can use the trailer of the frame for error detection.
4.4 To deliver a message to the correct application program running on the host, the address must
be consulted
4.5 Ina topology, if there are n devices in a network, each device has n-1 ports for cables.
4.6 is the unit of data at data link layer
4.7 Communication circuit that transmit data in both directions but not at same time is
4.8 simply downloads email to your computer, and usually (but not always) deletes the email from
the remote server
4.9 is an underlying TCP/IP protocol for accessing remote computers.
4.10 ensures that information can only be accessed or modified by those authorized to do so.
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Hkkx nks / pArRT TWO
YsfdUgha pkj iz’uksa dk mUKj
nsa1/z/(Answer any FOUR questions)

AodIhTfReTT FT 2 Hedraree & fora &g =
AT USH A ST TErwid STANT AT STTat £

html & T grzux fos e w¢, R s # e o
g 95 =T # www.google.com & &7 g SITaT 2.

) T A d g afafnT I 22

5. a) What is multicasting? Which IP Address class
a) freferfa arforr ¥ yeo= % o v HTML 9 and Protocol is used for Multicasting?
IR b) Create a hyperlink in html which when clicked
: links to www.google.com in a new window.
;WHTJT sr;waw ZT c) What is web hosting & web publishing?
(5+5+5)
ST T 80
Ty STE 67 8.
et ey 50 a) ASeqF TFIIT FT 8?2 TR SUIART K Fham
ST 872
by = F = siaw aam: b) U -0 T FrerrEeq A R i T qrar?
i) fZeT a9 TH PPP Wirhier a) What is outlook Express? How is it used?
i) firem & few aam FrEe w97 b) How can the contents of an email be
iii) T AT AT TS protected?
iv) LAN a7 MAN (6+9)
V) WTEde &t FATH Tieetsh i Sinead 9.
a) Create an HTML Page to display the following a) ISDN T £7? THT FaTeit F arv # aqr.
table: b) qfaTee, FlSHEe TgH FAT 82 IIELU & a1
First Name Last Name Points W E'% ) .
Eve Jackson 94 et § DNS T i1 F a7 § Feri?
John Doe 30 What is ISDN? Elaborate upon its services.
What are Unicast, broadcast addresses?
Ad?m John§on 67 Explain with examples.
Jill Smith 50 c) Highlight upon the role of DNS in Internet?
) (5+5+5)
b) lllustrate the Difference between:
i) Slip Vs PPP protocol.
i) Peer to peer Vs Client server
iii) Star Vs Ring Topology
iv) LAN Vs MAN
v) Private Key Vs Public Key Encryption
(5+10)
6.
a) MIME T 872 S3T&AT Y.
b) URL 3% 3% 9T FAT &2 SATEAT &<,
c) ZavAe H Iuersy TATHe T & S-FHiHe #4782
a) What is MIME? Explain.
b) Explain what is URL along with its parts?
c) What are the  different types  of
e-Commerce available in internet?
(5+5+5)
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